CIELAB lightness
with Y,=18

log (L*)
log(L*) L*
CIELAB lightness for all colours with L* ,=50:

L* cieeas = SV/Y,)3-16 (566, Y,=18, 1<=100)
(=100 /100"
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application
range

Y,=18

CIELAB-

log(AY) AY tristimulus value difference

L* cieLas = SY/Y,)3-16 (=66, Y,=18, 12r<=100)
CIELAB-tristimulus value difference
log(dY) = log( 3 (Y/116) ) + (2/3) log{/Y,,)
= log(3(Y, /3/116) + (2/3) logy)

1
1Y,=18

X >
« Yn=4
1

CIELAB-
tristimulus value sensitivity

log AY/Y)
log(Cy) C=(AaYlY)

L* cieea = SV/Y,)3-16 (=66, Y,=18, 1r<=100)
CIELAB-tristimulus value sensitivity
log[(dY/Y) = log(3 (Y /3/116) - (1/3) logy

application
range

! log@dY/v)=-1,33 md_—o 033~ o

Y,=18, dY,=0,83 dY,/Y =0, vk
10
1

N
-

Y,=18

CIELAB-
tristimulus value contrast

log (Y/AY)
log(S) | S=(Y/AY)
L* cieeas = SV/Y,)3-16 (566, Y,=18, 1<=100)
CIELAB-tristimulus value contrast
log(Y/dY)= log[(1/3) (116¥,)] + (1/3) log(Y/Yy)
= log[(1/3) 116/¢, /3] + (1/3) log(y)
i L*,=50, Y,=18 dY,=0,83 Y,/dY
Lo s e e
§ log(v/dv=133 m=033,

relative CIELAB lightness
with Y,=18

log (LAL* )
7L
relative normalized CIELAB data

CIELAB lightness for all colours with L*,=50:
L* cieias = SY/Y,)M-16 (=66, Y,=18, 1r<=100)

! L* =50, Y,=18
| log[(L") /(L* )0, m=043 _
>
*
Yn=4

application
range

100

relative CIELAB-
tristimulus value difference

log(AY/AY,)
AYIAY,

L* cieLas = SV, 316 (s=66,Y,=18, 14r<=100)
relative CIELAB-tristimulus value difference
log(dY)=log( 3 (¥,/116) ) + (2/3) log{/Yy)
= log(3(Y, "3/116) + (2/3) logy)

Y,=18 4Y,=0.83 dY,/Y,=0.0454
log[(dYY(dY,)]=0, m,=0,66
>
>

>
* Y\=4
I

application
range

100

log [(AY/Y) I AY /Y] relative CIELAB-
C/Cry =(BYIV)I(BYIY,) tistimulus value sensitivity

L* cieLas = SIV/Y,) 316 (=66, Y,=18, 12r<=100)
relative CIELAB-tristimulus value sensitivity
log@Y/M/(dY,/Yy)] = log(YrY,) 2

application
range
l- ~
! logl(dY/YY(dY,/Y,)]=0, m=-0, 33 1 Y.,
Y,=18, dY,=0,83 dY,/Y,=0,0454 '

Yn=4 oy, =180
1

log [(Y/AY) I (Y,/AY,)] relative CIELAB-
log(S,) S,/S,U=(Y/AY)/(Yu/AYu)[iSﬁmums value contrast

L* cieLas = sV/Yy)*-16 (=66, Y,=18, 12/<=100)

relative CIELAB-tristimulus value contrast
10g[(Y/AY)/(Y/AY,)] = log(Y/Y)™®
L* =50, Y,=18, dY,=0,83

L* =50, Y,=18, dY,=0,83 Y,/dY =21
log[(Y/dYY(Y,/dY,)]=0, m,=0,33
-

application

1
1
, range

100




